


 

 



 

 
 



 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

LONG QUESTION : 

1. Explain the difference between weighted binary code and non-weighted binary code with   

 suitable example. 

2. Draw the logic symbol, truthtable of 3 input XOR and NAND gate ? 

3. State and proof Demorgan’s Theorem. 

4. Simplify F(A, B, C, D) = m (0, 2, 5, 7, 8, 10, 13, 15). 

5. Simplify F(P, Q, R, S) = m (1, 3, 4, 6, 8, 9, 11, 13, 15) + d (0, 2, 14) 
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CHAPTER-2
COMBINATIONAL LOGIC CIRCUIT

2 Marks
1. What is CLC ?
Ans It is a logic circuit whose output depends on present input only.

For Example : Adder, Mux
2. What is encoder ?
Ans. It is a CLC, whose inputs are decimal digits and outputs are coded of input.
3. What is half adder ?
Ans. It is a CLC which performs addition of two binary bits.
4. What is full substractor ?
Ans. It is a CLC which performs substraction of only three binary bits.
5. Define MUX ?
Ans. It is a CLC which takes several inputs and gives only one output.
6. Give the application of DMUX ?
Ans. It is used in computer, any time information from one source to several places.
7. List the application of MUX ?
Ans. (i) Data routing

(ii) Control sequence.
(iii) Function generator.
(iv) Parallel to serial converter.

8. List the application of Decoder ?
Ans. (i) Counter System

(ii) Analog to digital converter.
(iii) Display system.

LONG QUESTION :
1. Explain the working principle of full substractor with logic diagram and truth table.
2. Explain the working of 2-bit magnitude comparator.
3. Explain the working of 1 x 4 DMUX & 4 x 1 MUX.
4. Explain the working principle of 3 to 8 decoder and 8 to 3 encoder ?
5. Explain the working principle of full adder with logic diagram and truth table.







                                                                              CH-4: 8085 Microprocessor 

Short questions: 

(1) What is Microprocessor? 

Ans- When a CPU is built in a single IC-chip, that IC-chip is called as microprocessor . 

                   For eg; 8085 microprocessor 

(2) What is microcomputer? 

Ans- The digital computer in which microprocessor acts as a CPU, that computer is known as microcomputer . 

                  For eg; Palmtop, Laptop etc. 

(3) What do you mean by 8-bit microprocessor? 

Ans- The microprocessor having word length 8 is known as 8-bit microprocessor. It means it can process 

maximum up to 8-bit data. 

(4) What are the applications of microprocessor? 

Ans-  

➢ Used in Traffic light control. 

➢ Used in personal desktop. 

➢ Used in calculator, game machine. 

➢ Used in medical application and military application. 

(5) Define Interrupt. Write down the interrupt signals according to priority? 

Ans- Interruption means interrupting or disturbing a work or process, by some other work or process. 

                      TRAP (Highest priority) 

                       RST 7.5 

                       RST 6.5 

                       RST 5.5 

                       INTR (Lowest priority) 

(6) Write down the types of flags in 8085 microprocessor? 

Ans-   

(i) Sign flag 

(ii) Zero flag  

(iii) Auxillary carry flag 

(iv) Parity flag 

(v) Carry flag 

(7) Give one example of 1-byte, 2-byte, 3-byte instruction? 

Ans-  

             1-byte- MOV A, B 

                  2-byte- MVI B,32H 

                  3-byte- JMP 2085H 

 

 

(8) Define opcode and operand? 

Ans-   opcode- The operation to be performed, is called the opcode or operation code. 

           Operand-The data to be operated on, is called the operand. 

(9) Write down the difference between MOV and MVI instruction? 

Ans- MOV 



→ It is a 1-byte instruction. 

→ It moves the data between registers. 

             MVI 

→ It is a 2-byte instruction. 

→ It moves an immediate data into a register. 

(10) Define stack, stack top and stack pointer? 

Ans- Stack- It is a sequence of memory location used to store or retrieve the contents of accumulator, flags, 

GPRs etc. 

          Stack Top- The Last memory location of the occupied portion of the stack, is called stack-top. 

          Stack pointer- It is a 16-bit special purpose Register used to store the address of stack top . 

(11) What is the function of program counter? 

Ans-  

➢ It is a 16-bit special purpose Register. 

➢ It is used to store the memory address of the next instruction to be executed. 

(12) Define instruction cycle, machine cycle, T-state? 

Ans-  

➢ Ic:  The instruction cycle is defined as the time required by the microprocessor to complete the 

execution of an instruction. 

➢ Mc: The time required to complete 1 operation of memory and I/o devices. It consists of 3-6 T-state. 

➢ T-state:  1 subdivision of the operation performed in 1 clock period, is Known as T-state. 

(13) Define counter? 

Ans-  

➢ Counter is a Sequential Logic circuit which counts Binary numbers. 

➢ It consists of Group of Flip-Flops. 

 

Long questions: 

(1) Explain the Bus structure of 8085 microprocessor? 

(2) Explain the pin diagram of 8085 microprocessor with function of each pin? 

(3) Explain the functional block diagram of 8085 microprocessor? 

(4) What is addressing modes? Explain types of Addressing modes in 8085 microprocessor? 

(5) Discuss about various Arithmetic Instructions and Logical instruction. 

(6) Draw the Timing diagram of MOV B,C?  

          

 



                         CH-5: Interfacing and Support Chips 

 

Short Questions: 

(1)  Define Interfacing? 

 Ans- Designing the logic circuits (Hard ware) and writing the instruction (Software) to enable the 

microprocessor to communicate with the peripherals, are called Interfacing. 

(2) Write down different modes of operation of 8255 PPI?  

 Ans- There are 2 basic modes of 8255 PPI  

(i) Bit Set/Reset mode (BSR mode) 

(ii) Input/output mode (I/o Mode) 

(3) Define memory mapping? 

 Ans-  

➢ In this device, address is 16-bit. 

➢ Data transfer is between any register and I/o device. 

➢ Decoding is more complex and expensive. 

(4) Define I/o mapping? 

 Ans-   

➢ In this I/o device, address is 8-bit. 

➢ Data transfer is between Accumulator and I/o device. 

➢ Decoding is easier and cheaper. 

(5) What are Interfacing devices? 

 Ans- The logic circuits used to enable the communication between microprocessor and      

peripheral, are called Interfacing devices. 

              For eg; Programmable peripheral Interface (PPI) 

                    Programmable Interrupt controller (PIC) etc. 

Long Questions: 

(1) Explain the Internal Architecture of 8255 PPI? 

(2) Explain different modes of operation of 8255 PPI? 


